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Phys 221 (Soction 8)
Quiz #4
1. In a one-dimensional (“head-on”) collision, a 1.0 kg %
mass with a velocity of 0.7 collides with a 2.0 kg mass audk ; 4_211 E..:f
with a velocity of —0.8 . After the collision, the 1.0 kg are given,
mass has a veloeity of —0.5 7. 10 Ly 1ok

a) What is the final velocity of the 2.0 kg mass?
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b) Find the velocity of the center of mass, Lt Ra mliaim,
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¢) How much kinetic energy was lost in the collision?
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2. A solid eylinder with a mass of 2.0 kg and a radius of
0.2 m rotates about its symmetry axis. It starts from rest
and undergoes an  angular acceleration of 2.0 'ﬁi ==
a) How long does it take for it to make 50 revolutions?
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b) How long does it lake for il to acquire 10 1 of kinelic energy? e rad.
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For a solid, uniform disk, Im = 1M R?



